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One who brings. It was entirely — 1937 2071 91921 7915 an21 %152 .NS2%7
written in my presence and half signed in my presence

OVERVIEW

Our mwn teaches us two laws, that if the 5w said 1710 onma °1921 1°¥7 2023 °192 or
1230 2Nn23 °1921 PRM anml °193, in both cases the va is 7105, Our NBOIN verifies the
order of these two laws and explains why it is necessary to mention both cases.

— %158M 21793 %3932 1919 DNNI 2393 XY 19907 '¥awn Nnxa

It is indicated in the X2%3 that the 73w reads first 137 anm: %193 Y9 anm %102
and then 1°X1 anma °1921 1913 2001 193 —

mooin asks:
—195PY 1980 DY PRY 29Y >9INT INNY NS
And it is astounding! According to the one who maintains that reason the v

says 1"'9211"91 is because 2°7y are not readily found in order to authenticate the
V3 -
— %8N DNNI 2393 19Y Y3 51D 1919 DNNY YN 2N93 2393 NINT

Once the mwn teaches us that vxn 3'"52 and Y212 anm °192 the v3 is 70D (even

though there was 01’ of both 2>7v by the m°%W), certainly 131 anmi %152 is 7109, since
the 7w was not 0»pn the second 7v. Why is there a need for the 7awn to add the case of anmi *192
9109 1 after it already taught us that Y13 anm1 *192 is 109 (if ¥R 2021 *192)?1°

n90IN answers:
— 131 9910 2191 29V PYNT TYINPY NIPNN PNYT RPIDT TIVNNRT PNYY 13929 99N

And the 5''1 answers that it is necessary for the 71w» to mention the case of 1"92
X1, for it might enter our minds that it should be =w> (even though anmi 192
1Y 2001 219211710 is 7109) for this vi is preferable than a v) which contains merely

' The xma (on this TnY) in explaining the 7awn first cites 1713 onm °1921 X1 2051 °192 and later (on this T1MY) cites 193
X1 ONM3 19211713 2n3); indicating that 191 anma is first in the mawn.
? The text of our 71wn however has ¥ onm *192 before ¥R 2023 "192.
* This is X327 on 3,2 (and also 727 according to the X1pon).
* See X"w1mn that according to the way X327 and *wx 27 explain the 73w» (on the '2 T1w) there is no question, for there
is a greater WY7°r in 1°X17 onm1 °192 (either because "I 7Y NN HY 1P7OR INRY KT or because the M9 is the 1w Tv).
3 However if we maintain (like 727) that 1"921 1"93 is said to assure that it was (written) 7nw", then it is understood
why the 71wn teaches us that even 1713 2021 °192 (the v3 was written 72w2), nevertheless if he said »xn anna *193, it is
2109.
® The xm3 later (2,9) rules that 731 9910 2n3 is (72¥°72) Ww2. See ‘Thinking it over’ # 1 & 2.
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the handwriting of the scribe and one witness; the reason this va is preferable -
— AN 1Y HDINN NNIN XIN OPP KT RIN "PRINN DI1Y 5Y NIINT

For in this vi two 2°7¥ signed (not merely X"¥1 7910 2n2), however (even though)
there is no avp (for the whole v3, but) only for the writing of the v and the

signature of one 7Y -
— 512509 9959 Yy YWY 1OPT 18N AN931 1919 DNNI 393N T

Nevertheless it is preferable than xr ano1 Y910 anm: "193, for since there is a
requirement to testify on the essential writing of the va -

10NNYYT MDY BYP 9919MINY INN X1YT (X,) 97) “NN9I91 W2 1399INTD
As the X7 stated in the beginning of the noo» that the m%w must say 2021 °192
([even] according to X27), for if not, perhaps we will confuse vX7 ovp with 21p
nuw generally and approve mvw ovp with an X"y,

SUMMARY
X1 annl °192 is more preferable (even according to &27) than (7¥1 990 205 and
even than) 1715 2021 192 since I?K? °NX.

THINKING IT OVER

1. Why was it necessary for mo0in to mention that 1°Xr anm1 °191 is preferable to
7v1 1990 an3,'" it would have been sufficient if Moo merely said that 31 anm1 *192
1s 77V than X1 20231 71927

2. MooIn states that 1Xn annl is 7Y than ¥ 9910 20> (which 1s w> [at least
723°72])."> Why then indeed do we rule that 1°%1 onmi *192 is 2109 [even Tav>7a] 1"

3. Is there a distinction between the obligations of 2121 °192 or ann3 *1927?

" Therefore it is 7°7v than 791 7910 2n3 (which is 7w3), where there is only one 7.
8 Therefore the 71wn teaches that even 1213 an23 *I921 XA oNM3 *1932 is also 5109, since there is no avp for the other 7v.
? The m5w did not fulfill this requirement at all, for he merely said 1nRT X7 2031 193, which is invalid; therefore in
that case it is surely 2109 because of *»171°X. [However by 121 annn 1215 and1 there is a 01%p on two 0>7¥; on the an>
7910 (who is considered an 7¥, and on the X"y. Therefore we may have thought that it is 7w>. See 7"210 and 1"11.]
"9 If the m>w would just say onma *392 (which is what is required according to X2 that 192 is said to accomplish
arp), then we may mistakenly assume by ‘regular’ mnvw ovp that one 79 is sufficient, just like by va1 1p, one m°Hw
can be 0»pn the v, Therefore the oon required the Mm% to also say 2no1 *193, distinguishing this w1 o1p (which
requires a 2n31°192) from other MW avp (which do not require 2021 *192).
' See footnote # 6.
12 See footnote # 6.
¥ See "X # 25-30.
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